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V Semester B.Com. Examination, November/December 2017
(Fresh + Repeaters) (2016 — 17 & Onwards) (CBCS)

COMMERCE
Costing Methods
Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely either in English or in
Kannada.
SECTION-A
1. Answerany five of the following. Each question carries 2 marks. (5%2=10)

a) What is contract costing ?

b) What do you mean by by-products ?

c) What is abnormal process loss ?

d) Mention four features of Job costing.

e) Name any four industries in which Batch Costing is used.
f) What is Economic Batch Quantity ?

g) Give the meaning of Notional profit.

SECTION-B
Answer any three of the following. Each question carries 6 marks. (3x6=18)

2. The following costs were incurred on Job No. 501
Materials¥ 9,014
Wages
Department ‘A’ 60 hours at X 30 per hour
Department ‘B’ 40 hours atX 20 per hour
Department ‘C’ 20 hours at X 50 per hour

Variable overheads
Department ‘A’ 12 per hour
Department ‘B’ 20 per hour
Department ‘C’ ¥ 30 per hour
Fixed overheads estimated at3 40,000 for 2000 hours

You are required to find out cost of Job No. 501 and the price to give profit of
25% on selling price.
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3. The following particulars relate to a certain contract carried out during the year

1> ended31-3-2017.

Work Certified

Cash received from contractee
Materials sent to site

Labour

Plant installed at site

Value of plant at the end
Cost of work not yet certified
Establishment charges
Direct expenditure

Materials on hand at the end
Materials returned to stores
Contract price

(in )
1,43,000
1,30,000

64,500
56,600
11,300

8,200
3,400
3,250
2,600
1,400

400

2,00,000
Prepare the Contract Account for the year ended 31-3-2017.

4. In processing a basic raw material, three joint products X, Y and Z produced.

The joint expenses of manufacturing are :

Materials % 10,000
Labour ¥ 8,000
Overheads % 9,000
27,000 :
Subsequent expenses are as follows :
Particulars X
(%)

Materials 2,000
Labour 2,500
Overhead 2,500

7,000
Sales value 42,000
Estimated profit on sales 50%

Y
)

1,600
1,400
1,000
4,000
20,000
50%

r4

®)
1,800
1,700
1,500
5,000
18,000
33.33%

Show how you would apportion the joint costs of manufacture by reverse cost method.

5. Manju company owns a bus which runs between Bangalore and Shimoga for
10 days in a month. The distance from Bangalore to Shimoga is 300 kms. It
makes one round trip per day. The bus goes another 10 days in a month towards
Hassan. The distance from Bangalore to Hassan is 200 kms. The trip is also
completed in the same day. For rest of 4 days of its operation in a month it runs
in the local city. Daily distance covered in local city is 60 kms. The seating
capacity of the bus is 50 passengers. The bus is generally occupied 90% of the
capacity while it travels from Bangalore to Shimoga and back. 80% of its capacity
while it travels from Bangalore to Hassan and back. It is generally full when it

runs within the city. Calculate total passenger in kilometers.

6. Write the features of process costing.
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SECTION-C
Answer any three of the following. Each question carries 14 marks. (3x14 =42)

7. The following information relates to a building contract for X 40,00,000 and for
which 80% of the value of work-in-progress is certified by the architect is being

paid by the contractee.
Particulars 2014 2015 2016
) () ()
Materials issued 4,80,000 5,80,000 3,36,000
Direct Wages 4,40,000 6,20,000 - 4,40,000 5
Site Expenses 20,000 68,000 24,000
Indirect Expenses 8,000 10,400 2,000
Work certified 31stMarch  9,40,000 30,00,000 40,00,000
Work unceriified 11,200 32,000 -
Material at site 8,000 20,000 32,000
Value of plant 56,000 -

The value of the plant at the end of 2014, 2015 and 2016 was< 44,800,% 28,000
and ¥ 12,000 respectively.
Prepare contract account for the three years and contractee Account.

8. The following details are extracted from the costing books of Chandru Copra Oil
products Ltd. for the year ended 31-3-2017.

Purchase of Copra 5400 tons for¥ 4,40,000

Particulars Crushing Refining Finishing
Process Process Process

Cost of Labour 5,500 2,200 3,300
Electric power 1,320 792 528
Sundry Material 220 4,400 -
Repairs to plant and

Machinery 616 726 308
Steam 1,320 990 990
Factory Expenses 2,904 1,452 484
Cost of Casks - - 16,500

3200 tonnes of crude oil were produced, 2600 tonnes of oil were produced by the
refining process, 2550 tonnes of refined oil were finished for delivery.

Copra sacks sold forZ 880, 1925 tonnes of copra residue sold for3 24,200, loss
in weight in crushing 275 tonnes, 500 tonnes of by-products obtained from refining
process were valued at 14,850.

You are required to show the account of each of the following process concemed
for the purpose of arriving at cost per ton of each process.

a) Crushing process |

b) Refining process and

c¢) Finishing process including casking
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9. Pranav Transport runs a minibus with a capacity of 25 seats. The bus runs between
two towns which are 25 km apart. It runs for 30 days in a month and on an average
80% of seating capacity is utilised. The bus makes two round trips each day.

(in %)
Cost of the bus 30,00,000
Estimated scrap value at the end of its useful life of 10 years  1,20,000
Driver’s salary per month 18,000
Conductor’s salary p.m. 15,000
Manager's salary p.m. 12,000
Cleaners salary p.m. 9,000
Garage rent p.a. 64,800
Life Tax 1,44,000
Rent, Lighting etc. p.m. 3,000
Repairs p.m. 7,200
Diesel, oil etc. p.m. 72,000

The profit expected 20% of takings

Prepare statements to show
a) Operating cost per passenger kilometer.
b) The fare per passenger kilometer.

10. From the following particulars relating to 4 jobs of a manufacturing company as
certain the total cost of each job and selling price of each job. Assuming that
profit mark up is 25% on selling price.

Particulars Job-A Job-B Job-C Job-D
Materials 1,600 2,000 2,400 2,800
Wages 800 1,000 1,200 1,400
Direct Expenses 160 200 240 280

Works overhead is 50% prime cost and office overhead is 20% on works cost.

11. a) The demand of an item is uniform at a rate of 25 units per month. The set up
cost is ¥ 30 each time a production is made. The inventory carrying cost is
0.50 per unit per month. Determine the Economic Batch Quantity by using
batch costing.

b) Inprocess ‘A’ 2000 units of raw materials were introduced a cost ofX 2,00,000.
The other expenditure incurred in the process was ¥ 1,20,000 of the units
introduced, 5% were cost in weight and the normal loss was 5% which were
sold at¥ 8 per unit. The output process ‘A’ was only 1825 units. Calculate the
abnormal gain by preparing process ‘A’ account and value of abnormal gain
by showing formula.
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V Semester B.Com. Examination, November/December 2018
(2016-17 and Onwards) (CBCS) (F+R)
COMMERCE
Costing Methods

Time : 3 Hours - Max. Marks : 70

Instruction : Answers should be written completely either in English
or in Kannada.
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English Version
SECTION - A
1. Answer any five of the following sub-questions. Each sub-question carries
two marks. - (5%2=10)
a) What is job costing ?
b) Give the meaning of operating costing.
c) Distinguish between maximum batch quantity and economic batch quantity.
d) What is meant by abnormal gain ?
e) What is meant by retention money 7
f) What do you mean by by-products ?
g) What is meant by work uncertified ?

SECTION - B

Answer any three questions from this Section. Each question carries 6 marks.
(3x6=18)

2. Briefly explain the different methods of costing.

3. Briefly explain the meaning and treatment of abnormal loss and abnormal gain
in process costing. Elaborate with the help of the details given. Input units —
1000 units @ Rs. 100 per unit, normal loss — 10% ; output — 950 units.

4. Atransport company runs 4 buses between two cities which are 60 kms apart.
The seating capacity of each bus is 60 passengers. The actual capacity carries is
80%. Each bus makes 4 round trips per day. On the onward journey, the buses
run to full capacity and on return trip run 20% empty. Calculate the kilometers
and total passenger kilometers for a month assuming that no bus is off the road
due to repairs and maintenance.

5. In the processing a raw material, one main product X and a by-product Y are
produced. The joint expenses of manufacturing are :

Materials : Rs. 12,000
Labour : Rs. 6,000
‘Overheads: Rs. 2,800
Total Rs. 20,800
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Subsequent expenses are as follows :

Particulars X Y
Materials 6,000 3,000
Labour 2,800 2,000
Overheads 1,200 1,000
Total - 10,000 6,000
Sales value 32,000 16,000
Estimated profit on sales ' 25% 20%

Show the apportionment of joint costs of manufacture using reverse cost method.

. Annual demand for the component — Rs. 2,400 ; set-up cost per batch —
Rs. 100 ; carrying cost per unit of production p.a. — 6% p.a. Manufacturing
cost per unit Rs. 200 .

a) Calculate the economic batch quantity for a company using batch costing
with the given information.

b) Also find out the number of batches to be produced to meet the annual
requirements.

(3x14=42)

SECTION - C
Answer any three of the following questions. Each question carries 14 marks.
7. a) Obtain the selling price of a job from the following particulars
Materials used Rs. 40,000
Productive wages Rs. 25,000
Direct expenses Rs. 5,000

Provide 60% of productive wages for Works-on-cost and 12.5% of works
cost for Office-on-cost. Profit is to be realized @ 15% on the selling price.

b) How much of profit, if any would you allow to be transferred to profit and
loss account in the following case ?

Contract value Rs. 10,00,000
Cost of the contract till date Rs. 4,50,000
Cash received Rs. 4,50,000 (90% in work certified)
Uncertified work Rs. 50,000

Retention money is 10 percent.
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8. Product Bis obtained after it passes th rough three distinct processes. The following
information is obtained from the accounts for the week ending 31-12-2017.

Particulars Total Process| Processll Processlli

(Rs.) (Rs.) (Rs.) (Rs.)
Direct materials nenTBAE - 2600 1,980 2,962
Direct wages 9,000 2,000 3,000 4,000
Production overhead 9,000

1000 units at Rs. 3 per unit were introduced to Process |. Production overhead is
recovered on 100% of direct wages. The following additional data are obtained :

Process Output during the Normal Lossto Scrap value/

week (units) input unit (Rs.)
| 950 5% 2
Il 840 10% 4
1l 750 15% B

Prepare Process Accounts and Abnormal Gain or Loss Accounts.

9. Shiva Road Lines supplied the following details in respect of a truck of 5 ton

capacity :

Cost of the truck ' Rs. 9,00,000

Estimated life 10 years

Diesel, oil, grease Rs. 150 per trip each way
Repairs and maintenance Rs. 5,000 per month
Driver's wages Rs. 5,000 per month
Cleaner’s wages Rs. 2,500 per month
Insurance Rs. 48,000 per annum
Road Tax Rs. 24,000 per annum
General supervision charges Rs. 48,000 per annum

The truck carries goods to and from the city covering a distance of 50km each
way. While going to the city, freight is available to the extent of full capacity
and while returning only 20% of the capacity. Assuming the truck runs on an
average 25 days in a month, work out :

i) Operating cost per ton-km.
ii) Rate per ton per trip that should be charged to earn a profit of 50% on freight.
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10. Royal Constructions undertook a contract for Rs. 75,00,000 on an agreement

11.

that 80% of the value of the work certified should be paid immediately. The
amounts expended were :

Particulars 2014 (Rs.) 2015 (Rs.) 2016 (Rs.)
Materials 9,00,000 11,00,000 6,30,000
Wages 8,50,000 11,50,000 9,50,000
Carriage 30,000 1,15,000 -
Cartage 5,000 10,000 30,000
Sundry expenses 15,000 20,000 - 15,000
Work certified 18,75,000 - 75% o 30" June

contract price whole contract

was completed .
Work uncertified 1,00,000

Show Contract Accounts and Contractee’s Accounts.

From the following details, you are required to calculate the cost of Job No. 11 1
and find out the price to give a profit of 25% on selling price. ;
Materials cost at Rs. 3,000

Direct wages :

a) Dept. X — 80 labour hours @ Rs. 10/hour

b) Dept. Y — 60 labour hours @ Rs. 6/hour

¢) Dept. Z - 10 labour hours @ Rs. 5/hour

Overhead expenses for three departments were estimated as follows :
Variable Overheads :

Dept. X — Rs. 5,000 for 1000 labour hours

Dept. Y — Rs. 6,000 for 3000 labour hours

Dept. Z - Rs. 2,000 for 1000 labour hours

Fixed overheads are estimated at Rs. 10,000 for 5000 normal working hours.
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Reg. No.

V- Semester B.Com. Degree Examination, March - 2021
COMMERCE
Costing Method
(CBCS) (F)
Paper : 5.5

Time : 3 Hours ' Maximum Marks : 70
Instructions to Candidates: '

Answers should be written completely either in Kannada or in English.

SECTION-A
NN — D

Answer any Five of the following sub/questions. Each sub-question carries Two marks.(5%2=10)
BINT  OSRPYToEte W YO TINOR 03O, T33O TIR QTR 03NSH.

1. a)

b)

d)

)

g)

What is Batch Costing?
gelerev ﬁai QROTBEZ?

Give any four examples of Industries where Job costing is applicable.’
FOR ) DPOTBIR, WIS OIRTYTOTTLR T, YTPOINY LVTRTTH AR,

What do you mean by Economic Batch Quantity (EBQ)?
mswsom TOTWINET TROTD OB

What do you mean by By-product? |
PUT-BRNKD  DOWSe0?

State any two features of Process Costing.
T BT dT@ MROTRNTRY, 393

What is work certified?
TIRPIOAT FOR DOTTeF?

Give the meaning of National Profit.
RN ORI eﬁcss'ao'bcl 392,

[P.T.O.
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SECTION-B
QRn-N0
Answer any Three questions. Each sub-question carries six marks. (3x6=18)
C3RR)TIOTETR  TARTY @%ﬁ@ﬁ YUBOA. BBC3ROTER, ST LOTNO.

2. Briefly Explain the different methods of costing; |
2% DEIEOD aa:q;)d NP WGRBNYD, F0FETWoN DWOR.

3. Calculate the cost and selling price of the Job after adding 25% Profit on total cost.
Materials Rs.12,000
Wages: '
Department X - 60 hours at Rs.50 per hour.
Department Y - 40 hours at Rs.30 per hour.
Department Z - 20 hour at Rs.25 per hour.
Variable overhead Rs.20 per hour.
Fixed overhead Rs.25,000 for 1,000 hours.
FONT BI0LEWOT 2.3, wzézs oeS Be 25% TRIY, F0303 SR 233, 0B WRTE
23S0, ﬁocﬁo&o@oﬁab
T, mgm:b Cw.—12,000
3RO:
qonsd X SenowR or.50 Jo3 i3 60 nownso.
ROREY Y—wérﬂo@%ﬁ 3».30 303 um 40 NOEINR.
S(opky] Z—wéﬁo&%ﬁ Tw.25 o3 mm 20 nonw.
B0 HedPnsd - T notdn Sw.20 g
atﬂ ESJG@?S?W’D -1, 000 nog3nen ©s.25,000.

4. Inthe processing a raw materials onc main product X and a by-product Y are produced. The
joint expenses of manufacturing are
Materials Rs. 24,000
Labour Rs.12,000
Overheads Rs.5,600
Total Rs..41,600
Subsequent expenses are as follows.

Particulars XRs. YRs.
Materials 12,000 6,000
Labour 5,600 4,000

- Overheads ' 2,400 2,000
20,000 12,000

Sales Value 64,000 32,000

Estimated Profit on Sales 25% 20%
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Show the apportionment of Joint cost of manufacture using reverse cost method.

2,00 YVBVTDD No,gpodae“) RY TINOLTY, JFOWRTN 2.0 RO s, X
DB YOI emé’s Y $03ZHNchEn. awg zso@s é&sg‘s T

TN AN dra 24,000

B dw. 12,000

d}e@aﬁ ow. 5,600

mao ow. 41,600

'a’domoda 3dT 525’ - -

NRT X Y

TN 0.12,000 6,000

3RO 0R.5,600 4,000

aﬁaeejda;;ﬁ@o - 00.2,400 2,000
2630 20,000 12,000

o008 2363 3. 64,000 . 32,000

WIV0AEIT LIB0N LOTVRY ©Y 25% 20%

STONA 2TOINT edhe &)mﬁﬁ@ was@w QTR TLORPENG ROEd DWFT QLToNCBTD
TIOTEET 20T wé\%O\Dﬁo @Oﬁwafu

5. Annual demand for the component Rs.2,400, set up cost per batch Rs.-100. Carrying cost
per unit of production per annum 6% manufacturing cost per unit Rs.200.
a)  Calculate EBQ for a company using batch costing.
b)  Also find out the number of batches to be produced to meet the annual requirements.
BRES 3e@F TOFSROR TL.2.400, TEBOIT AT 3 82100, D&FE FTD
Ron® [ BB03e0WE, woars e 6%, SPCRIARD dzé %@o&@ocﬁ@ Tw. 200. '
a) ] em@mcim TRRETI), TR NS Shsas-‘cmcjso:b 603&3@6&0306
b) IRFTY emz»raffb,\ow 08D GVBITITD aa’oz%ri@esb ﬁoa@aaoaaoma

6. From the following information calculate.
a) Total Kilometers.
b) Total Passenger Kilometer.
Days operated in a month - 30 days Tnps made by each bus coverlnfr of distance of 150 kms
one side.
No.of buses 4.
Capacity of each bus 60 passengers.
Average pasangers travelling 75% capacity.
3HB0B 0 S0NOT:
a) P 3.LWeND.
b) &;@.33 wms&s 3.c00.N, QNI FORLRND.
20T éoﬁ@ﬁ@ TOORFAWE LAT airieéo 30 OEnsb. |
BS D80T 150 &.&0e.ns TRODTY, TS A TWADET.
283, &)mﬁ% -4 '
G amzd TWBE 60 TeSowedF.
@od:asésd JOoAO TEJwee Je T5%T TOTIZE .
; A [P.T.O.
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SECTION -C
NN —
Answer any Three questions. Each question carries 14 marks. (3x14=42)
CIPRYTOTTR RT TFNRIR GOZOA. [B03R0T TFODR ZOTI, OTNYIY,

BRODTET. N
T &Y Ascertain the selling price of a Job from the following pamculars

Materials used Rs. -80,000
Productive wages.  Rs. -50,000
Direct expenses Rs. -10,000 _
Provide 60% of productive wages for works cost and 12.5% of works cost for office -
cost. Profit is to be realised at 15% on the selling price.

b) How much of profit, is to be transferred to profit and loss account in the following

case?
Contract value - Rs.20,00,000
Cost of the contract fill date Rs.9,00,000
Cash received Rs.9,00,000 (90% is work certified)
Uncertified work Rs.1,00,000
a) 39B0B B[PLENPOT 2,00 DR FORE S0 LBB0NT, TOBERBENO.
AT TOTNNEL | ‘ 82.80,000
PUTITTR 3RO 8£.50,000
el Segried ' $£.10,000
aacsaa 2ndohE) 60% T, YOTYWID LA BTN STy YIITI? Sl
C12.5% S@e3 BPE wENR, Smoew BSeRY 15% O, o5 TECVIYRY
b) 3N Nodzsrdcf) ems Fdh B, 00BN DT, B, B SrRrHs SRERETOR
BOTLEBOND.

rbéﬁo:b d@@ 38°.20,00,000

‘ 33233??\0‘053 maﬁ =%, Q00F=3R TL.9,00,000
DREB B cS.ra900 000 (B Res0An FORTY 90%)
333083 $0R 80.1.00,000.

8. Harihanth construction Ltd has undertaken construction of a bridge, The contract price
being Rs.1,30,00,000. The details relating to contract is as follows.

Rs.
Materials Purchased 33,00,000
Materials rent from stores 8,00,000
Labour cost ; 40,00,000
Direct Expenses 2,50,000
Hire and use of plant : 1,20,000

General o/h allowed [ 3,50,000
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Materials on hand at the end of the period 63,000
Wages accrued at the end of the period 75,000
Direct expenses accrued at the end of period 15,000
Cost of work certified by architect 1,10,00,000
Cost of work uncertified 2,00,000
Cash received from contractee ‘ ' 88.00,000

you are required to show.

a) Contract account

b)  Countractees account

BOLOT TILRED" “DWRETRY) 2.0 AeBTFODRY, JENFRLL TR TWOTY, MR
e3¢ 6@130 00 000 SNTR, SRR FOWODAT é& 393008 DNORY.

.
TN, FROBTRTH 33,00,000
THYRONOT ILRAT FOTARTD 8,00,000
Eﬁﬁbcﬁ 523’ ©40,00,000
ﬂkd DEDERLD - 2,50,000
"‘Jﬁd WYAT BN 1,20,000
'?&)’335 a"beeﬁaém) (CEEm AL . 3,50,000
©ROOD araéosa@ 38Qc0es mwadn 63,000
RHOD ﬁma’ocbg w@aodsad 3RO 75,000
VVHOD BRTODY B P03 ~es ﬁzgm“»a 15,000
3 EFTROD BRREETOAT FORT aﬁzgi 1,10,00,000
wﬁ@?@é@h"d 6@?35 da's’ : 2,00,000
méﬁ RERTBROT wdd F53$30) 88,00,000
34 %W\s@mm ey . 30350
a) _ man éasaé 4

b) I RIS 508.

9. Product ‘X’ is obtained after it passes through 3 distinct processes. The following
information is obtained from the accounts for the month ending 31-12-2020.

Particulars Total Process I Process 11 Process 111
Direct materials 15,084 5,200 3,960 5,924
Direct wages 18,000 4,000 6,000 8,000

Production o/h 18,000 - - -
2,000 units at Rs.6 per unit were introduced to process I, production overhead is recovered
on 100% of direct wages. The following addtional information is obtained.

process Ouputduring  Normal loss Scrap value

the (unit) (Input) Units Rs.
I 1,900 5% 2
I 1,680 10% 4
I 1-15500 15% 5

Prepare process Account and Abnormal Gain or Loss Accounts.
[P.T.O.
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31-12-20208 SRm03E, ORIDE 9508 IRbIoHIY, TR, X7 HowodAB0
DEBIRNS. FB0 AP FRTH DOF FoIRY ToHNYR, Y VORI,

DFoRE 2t | Bgod 1 [T I |zged I
Se5 Bem, OTAD 15084 | 5200 | 3960 5924
S5 300 18,000 | 4,000 | 6,000 8,000
SPERIIRINNS s 18,000 - - -
2,000 Fe3BNIR, Twe.6 308 BB T Tgod 1 0P JeBSRNT. WwEBT [eGUTIY,
3e3 3RO0H 3¢ 100% TOS BOWSOINT. 8% FPBOR ZDZO wR&E WWNITONT.
Tich | SmR 0033 IR, | maws, g | SE8 89

(FBRTY) (AT RE) T8 0w
P B 5 3.
I 1,900 5% 2
i 1,680 | 10% 4
m 1,500 15% | 5
TFedh o= Qa'aéﬁ%ﬁﬁbul TOML LAOTRT, IF W OROTRT, OO SoOSNT,
3035003

10. From the following particulars relating to 4 jobs of a compaﬁy. Calculate selling pricé of

each job.

Particulars Job No. 1 Job No.2 , JobNo.3 Job No.4
Materials 3,200 4.000 4,800 5,600
Wages - - 1,600 2.000 2,400 2,800
| Direct expenses 320 400 . 480 560

Works overhead is 50% of price cost and office overhead is 20% on works cost. Profit
mark up is 25% on Selling price.

85 FYTOE YVBIT ROBOD 4 VT 30ANT BEC3ROTT 30008 LSCHRY, SCTOA.

DTTH 0B 3O DB FOR DB FOR DB 3OF

S0o.1 0.2 0.3 0.4

NN 3,200 4,000 ‘ 4,800 5,600

ged 1,600 2,000 2,400 2,800

Ne0 DWDFE 320 400 480 560
TOITOF ﬁ:ec;z%ﬁ% TOGFeNT ﬁzgp e Be 50% TaD, I 7e3e0 éaeefdzgdﬁ@éo

TvFS BPB Je 20% IR, Tone s Twe 3¢ 25% TR, TIP0IITI 23S0
B0eS BT,
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11. Following expenses were incurred by a company on two Lorries for 25 days.

M

Particular Lorry A Lorry B

Rs. Rs.
Drivers Wages 8,400 8,500
Cleaner’s Wages 5,600 6,200
Diesel 30,000 45,000
Oil 3,500 5,000
Depreciation 14,400 12,200
Repairs - 5,600 5,600
Supervision 3,200 3,200
Garage overheads 5,600 4,200
Road Tax 3.600 3.600
Other overhead expenses 2.800 3,200
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-Lorry ‘A’ carried 75 tones of Raw Material covered a distance of 2,500k.m in 25 days and

Lorry ‘B’ carried 100 tons of Raw Materials, covered a distance of 4,000k.m in 25 days.
Find out the cost per km and cost per ton kilometers by preparing an operating cost sheet

of two Lorries.

2,000 F0TICH HTE CHORYR 25 DJIRTR Inewvm Db B FYFOBOIT.
TR 0 A Bh. - &0 B de.
0TS 3R 8,400 8.500
3e30° TR 5,600 6,200
ek 30.000 45,000
SO 3,500 5,000
SN A 14,400 12,200
T 5,600 5,600
BoepzTER 3,200 3,200
Deynisd (THzd) 5,600 4,200
o3 ot 3,600 3,600
/T3 eSPnd DR 2,800 3,200

@20 A O3 25 O/NSY 75 VI T ﬁfaéa 2,500 3.80¢. TRT FDAT.

@00 B odw 25 OTNYY 100 &35° mdma 4,000 3.0¢ BWAT.
NOB CRONG FOITOFE0H DDF w&odaa“n z.;oc*b F.e0€ DWDFE m@’a 2,000 asaf

- 3.a0e. 5323’58’)) FOTWIELEBOWD.




